
1 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwds-2244-digital-readout
7/4/25

JWDS-2244 Digital Readout
Product Images

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwds-2244-digital-readout


2 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwds-2244-digital-readout
7/4/25

Description

Index Number Part Number Description Size Qty

 723552 Drum Sander DRO Assembly
(includes #1 thru 9)   

1 TS-1503021 Socket Head Cap Screw M6-1.0P x 10L 4

2 TS-1550041 Flat Washer 6.5 x 13 x 1T 4

3 TS-1540031 Hex Nut M5-0.8P 1

4 JWDS2244-504 Upper Bracket  1

5 JWDS2244-505 Lower Bracket  1

6 JWDS2244-506 Phillips Round Hd Machine Screw M3-0.5P x 5L 2

7 JWDS2244-507 DRO  1

8 TS-1550031 Flat Washer 5.1 x 10 x 1T 1

9 TS-1502031 Socket Head Cap Screw M5-0.8P x 12L 1

Additional Information

Stock Number 723540OSK-2

Products in this set

Washer | TS-1550041

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwds-2244-digital-readout

